T&T4 4.3 Finding Circle Equation November 13, 2014

20. Inacomputer game a tractor is drawn.
The front wheel’s rim has equation
(x =52+ (v—-3)P2=4
(i) The ground is a line parallel to the x-axis.
Write down the equation of this line.
(i1) The rear wheel’s radius is 3 times the size of the [ront one’s. S »
If the points of contact of the wheels with the ground are
10 units apart, find the equation of the rear wheel’s rim.
(iii) The tractor moves 2 units to the left. Find the new equation of the rim of the rear wheel.
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